FOA=ZERSETNHLAOUR

BR#ER - 07406 H26H $EHY)—D5T
g5z K % ouT IN GR HDCP NET et
E=iG mee =8F 43 43 8.4 346 AE
#£E £tH RC 42 42 1.2 34.8 AE

3 #FE Xif 43 43 1.2 358 AE

4 Rxm = 45 45 8.4 36.6

5 xH EHE 47 47 9.6 37.4

6 fBE HH 46 46 8.4 37.6

1 g & 45 45 1.2 31.8

8 LWFE FEz 39 39 1.2 37.8 NP4

9 ¥EMR *EH 50 50 12.0 38.0

10 ®Il ER 50 50 12.0 38.0 NP8

11 BEX & 51 51 12.0 39.0

12 7 =A% 50 50 10.8 39.2

13 &% FEH 50 50 10.8 39.2
- g HE 49 49 9.6 39.4 BBE

15 Y2 ZEER 53 53 12.0 41.0

[BEEAEIWRY7 [BEIEM]IZERE - FRERE [BLH-MBREOUT:1-3-4-5-6-95 1 N:11-12-13-15-16-17



